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Choose the correct option:

® | © | ® | ® e 27

/ﬁjﬁabb&nuu’g ax” +bx+c=0

b#0,c20  a#0 v c#0 b0 , | _ N
ax~ +bx+c =0 will be quadratic equation if:
/ﬁjﬁabu&ﬂ»‘f}l}u‘lﬂ ax> +bx+c=0

b#0,c#0 a=0 c#0 b=0+v ax’ +bx+c =0 will be pure quadratic 2

equation:
{\/'7} {_\/’7} {-}-\/’7} {iﬁ} v s JK 4x* =T 2 lsls 2
9 IR 4 S The solution set of 4x*> =7 will be:

(x + el Pl izinl x* —x—2

—Dx=2) | LG V_ 2) | i) | =D+ Two factors of x* —x—2 are: g

{—liﬁ} {Ii\/—_3} {1i\/§} {—li\/?_)} v ?é,qf(x2+2x—2:0:,blz 5

The solution set of x> +2x—-2=0 is:
Nzt reablo@nkl ax® +bx+c=0=bls
ax” +bx+c=0 become a linear equation if:

b > i
(0,5} (0,30) (0,6} v/ (0,-6) \ S uL 5K =30x b
R the equation 5x* =30x is:

< @3 ?a;;.&fdp( 5x° =125 =0 sl

a=0 v a+( b=0 c=0

| | 1 ) ) ) L Y ) o ) o (ot ) e | ) | (o (S ) [ o, ) | ) [ o 1 ) e ) ) V(| ) ) (o 1 [ O () (S () [ | ) ) | o o) ) () e | () 1 ) ) o o e ) e ) o ) ) ) ) 1 ) o [ o o ) o [ () o

{5} {10} =} {£5} ¢ % _ ) _ 8
@ The solution set of 5x° —125=0 is:
{15: . ~b++b’ -4
S @ i //L.MU!'JGL;,UH s \/5 a
a
aZO a0 v b=0 © :0 —bi\/b2—4ac 9
5 is called quadratic formula
a
where if:
)\ 4 7.3 2 _
o995 J-JJH..(' R J}G" l Sl 4 3 ‘4..;131/.{1 ax_ l?x e -bx—.ka X 10
Quadratic Linear ecn‘)/roca Radical ax' —bx’ +cx” —bx+a =0 1s a equation:
I (jlj..:.a;" ..:,I;L,»J;ﬁ‘ = Mslr e e fals(Saas %—JM@UVJy a* +b,a* +c=0
| Exponential Reciprocal Radical Quadratic  Equation in the form of a™ +b,a* +c=0 is 11
1| equation ¢/ equation equation equation called:
. 5 2 — () %
{2} {12} v {4} {i4} -r‘."_.u:"dpgélx —16=0 = /sl 12
The solution set of equation 4x*-16=01s:
:J:LMJU:.«}. . 3 .
E Exponentia &l}%‘”u’!é‘ :..«IJL«‘.O'JJ? U{d[ :c";.(ég;?{ 192F o B ) csfil 13
| Equation R o] et Nong-ab An equation of the type3* +3** +6=0is a/an:
v Equation Equation these '
&lsbdjkﬁéé ,LfUlﬁ/é:‘utJ?awaugl
: JEE JE s Y&k A e S _4_3”?(
|| Square sign Exponential Radical sign Noneof  An equation involving impression of the 14
I sign v these variable under ___is called radical
equatoin:
ax’+bx+c=0,a#0v B bx+c=0,b=0 A :;;.ﬁd;_L_uJauL»&»» 15
ax” =0,a#0 D ax” =bx,a #0 C Standard form of quadratic equation is:
A 3 7 1 w%}éa_/d’fm,udw 17
The number of methods to solve a quadratic equation is:
(x+7)& (x-7)&  (x+7)& (x-7)& (x+8) B sl x> -15x+56 18
T S
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: X +8 x—8) v x—8 Two linear factors of x*—15x+56 are: I
1 (x+8) (x-8) (x=8) h
i U % pakcity.org %n :
! o 7 o - - i - “U'E’(‘ 4 = j /(‘ i ¢ ORI lr"D H
E u::‘/d/ sl S =l TS (VRS %d * J;J&/ G X ‘gd/x JJ> i E
| None of Radical RECIPro  gyponential ~An equation, which remains unchanged 19 [
| these Equation qulaa]tio Equation when x is replaced by ~ is called a/an: i
i X i
E nv ;
; S4ul """L"‘J’G/ sl 2ileQU? -4-(36/3x +374+6=0 =lsls 20 |
I ' - Exponential ‘ I
! Hone gl Rec1pr9cal Radical pon An equation of the type 3*+3** +6=01is a/an: :
1| these Equation  Equatio  Equation ¢/ i
E n ;
I BT T (4] e SEBC16=0 2k 5y f
i The solution set of equation 4x*-16=01is: ;
E Sl ;
I Ao el o i s = ce O 2% —3x3 +7x% = 3x +2 =0 e hols I
| H}L/‘ ¢ L
| Noneof  Exponential Radical Reciprocal An equation of the form 22 [
| these Equation v Equatio Equation 2x* -3x’+7x*—-3x+2=01is called a/an:
! n E
f 4 3 2V wund A LOE oq
i There are __ complex roots of unity: i
E a —_b v _a < C.L"!'J/KJULH’}L-”OZJM} 24 E
i a a b a Sum of roots gf a quadratic equation is: i
; i 3 =3 3 v \ J"' LJ/KJ)JL 4x> -3x+6=0 7E E
I 3 —4 4 4 Sum f<1:b/0ts of 4x* -3x+6=0 I
: Syl ;
I \\ < LHI3VJJJJ)4J-£4JJI3JJ:J i
E x2 —T7x+12=0¢ x2 +12x—-12=0 x +7x+12 0}) x +x+12 0 Quadratlc equatlon for the 26 E
: /F\QVTJ roots 3 and 4 is: !
E ) _5 3 C\é -4‘;.1:1/.(1+B;"u:4uju£3xz+5X—2=0.:J:L«~Bc0tﬁ E
?- ? v g \Y \ E If o, pare the roots of 3x*+5x—-2=0, then 27
- “\\E\’ OL+B IS: i
I N o , - i
i _4 7 \4‘(\/ r Jj _4./.1/,(1Biu:€gﬁu£7x2—x+4:0 &’)L"‘B‘a)/' i
I — — — E - If a, Bare the roots of 7x>—x+4=0, then af 28 |-
I 7 7 I
[ 4 ! iS: I
I Nuﬁ"d/ f e : dﬁ/ P2 S 1L 4% 5% +2=0 =il 59 [F
i maginar i
I t%gig Rational %; 4 Irrational Roots of the equation 4x*-5x+2=0are: I
11 —®,—® ~1,~0,0° —1,0,-o Lo A Lr 30 |
T C o v Cube roots of '-1'are:
! : q i e el o |
I Sum of the cube roots of unity is: I
: 3 -1 1v 0 e PSS L g [
I Product of cube roots of unity is: I
1 oo 1,—o 1,® 1,-1 v S AT
i Two square roots of unity are: i
i| T & 4 ‘f""}“b "fi“"'l = B L A% —Ax +1=0 e bls » ;
| Irrational Imaginary ey . Roots of the equation 4x*—-4x+1=0are:
I Unequal Equal i
I 2 . L 2 0 . ]
|| IR b2 4 e L b” —4ac o -é.Lmlvfu/’Kax +F)x+c_0*.,uu 3t |
H v The discriminant of ax*+bx+c=0is: .
i 600m : 1km ="? I
I . : 3:5v ; I
: 5:3 6:1 600:1 oy [ — 9 36 :
E ey u‘,é’ f(c;,wud{ uﬁ"&wéf :%Jw Lgl?&j:d{d/}u:l&?.zlﬁfug/ﬁ 37 |I
) by " &
O B R R R R R e e i = & O
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Ny ]
| Direct ¢/ Inverse U No [f one quantity decreases and other decreases, I
Either relation  the variation is:
direct or
| inverse I
: +32 123 130 v PO L4520 g0 |
I For 20, 45 mean proportional is: i
U 4 Ko P ] i
: 2 +23 2 v | | B e e TY
I 3 Third proportional of 4,12 is: i
Wty _./‘_--..,wti‘-l/f“&.i a:b:b:cH
1 b Cv 4 For arelation a:b::b:c, the third proportional 40 1
I Noneof —— I
these I
e ot 5 | 7 a :b-:: ¢ d, d-‘;;.L“JJg(“LL :
- 4th For arelation a:b::c:d, d is called . 41 I
i 2nd 3rd : :
! . . . proportio I
7| proportion proportion proportion n v i
| /; ‘L.VMJQVK ,kay=k£/£.'jJ/”-ﬁ' 1
i . 4 I
i Z X ' - - : 42 |1
I o Var:;lble In joint variation, y =k = Kk is called constant of i
- Z L
: kx o & :
) Lo Ly=—42T> I
1 k=1 k=0 K=l k#0 v o & 43 |
[ For joint variation, y = — where: I
I - i
: 71 L r EN :
I u{d[ Fourth o/ u.fl'/ ’ \6 2/ u“z_U/ dsta ma:bic:d -t i
1| None of . Extremes 44 |
i Proportiona Means In a QRopertlon a:b::c:d,aand d are called: i
I these | v VK I
I _ ; \\Jé i
I 5 1 AP )™ I
i ~ }( - . . L S’ I
i Nu’"d ” Fourth A u;;\;\jj &b e sbUkazbc:d —t a5 |
I t(;:ei: Proportiona Extremes Méa}‘rsft/ In a proportion a:b::c:d, b and c are called: I
: : <GV :
i V\\\3\/ I _buynéc sl a ufac:bz:a:bzb:c_/lfd)/ i
. s ~\\ N

L PR T, \ i
| s N7 A wprifo ¥ 16|
|| noneof Means v fomth third  In continued proportion a:b=b:c, ac=b*, b is i
these said to be proportional between a and
- C. L
S L G o A _é.t'w/b/ﬁ' c;:..b»lau:fa:bzb:cql:"«u“v -

3 A . a
| none of ' . In continued proportion a:b=b:c, c is said to 47 ||
i means fourth third v/ . i
i these be proportional to a and b. i
? 3 4 75 e ¥ Aag s 5 - :
1 12vv = = i3 - | S x s bxus15A g :
] 4 3 4 Find x in proportion4:x::5:15. |
: Ju e v2 S i
l uv’ =1 uv’ =k u=kv’ ¢ u=v’ heev 49 |r
i If uocvz,then: I
: .k Jy? oo % Ji :
[ 1 X -
1 y* =kx’ = y=— 7% 1 50 |
L X L
I v If y ®Li— , then: i
I X I
E BRI, (R N ¢ E
1 u=vk u=wk u = vk’ u=wk’ v 51 [
§ u V u
] v If —=—=k, then: i
i A\ \%Y% i
E y2 Y4 v, X2 2 y2 Zé.._.,wl;?l/:.:{yz X2 £o E
I x* X Y X’ The third proportional of x*and y’is: I
X XyV Yy Xy | :é.w_.,wt'}'w;g,utxiy::vzw 53 |
I vy X \ The fourth proportional w of x:y::v:wis: I
6.-. | ) = ) () [ | ) e | Y e 1 [ O ) == ) 1 ) i [ T ) ) ) ) ) ) T T 1 () ] ) ! ) Y i i 1 [ [ | T [ [ I ) | el T T 1 [ ) N [ = || -.6
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E a—b _ x-y a+b x+y 3:5 —=EV :%Jdl,gl?ﬁa:bzx:y/fl 54 E
1| [ S b Y b vy Xy If a:b=x:y, then alternando property is: I
E E_X v a+b:x—l—y a X E:E an.:a{ju’g;ﬁa:bzx:y/ﬁl 55 E
1 a x b 7 a=b x-y X y Ifa:b=x:y,theninvertendo property is:
E ad _c :4.:4-5%(}'}73/: a_ Efl E
I a—b:C—d it ab: cd adb  odd b d 56 i
i I ~ bc R v If %: %, then componendo property is:
: u@ pakcity.org %n : i
i 4 : . . L/ ' x +3 i
| Sa A Ak | T2 |
| Proper fraction propet OMPOUN Both A & B X3 : !
! fraction d fraction isa/an fraction: -
(x+D(x+2)
| L i Id&tb:"’ P - LI 2(x+1)=2x+2 .
|  Equation Unequality e‘n/ ¥ | Fraction | ZG+D=2x+21Sa/a0___ i
: 1x=9 2x" +x+1 x*+1 X +x°+1 s e ?U.?/b.f%'ﬁ/:' tf’r&-d:f’/ié-) - I
I Which one of them is not an improper I
[ CorDe-3) P42 2a-D 2ol gl 5
I ) il iz L X% 41 I
. ) ) x+D(x"—x+1 > ? = I
[ @vw-xen epw ey U T el exs) Multiplication factors for - 60 [
I x> +1 are: I
I : i
I x +1 i
E é'/ ""g' 3 | E
] Gk =27 2 o 61 |
I Linear Improper ik is a/an :
I x 41 — I
I fraction. I
: Sxe(5x+4) =25x +40x +16 =d ¥ :
E d‘/”i Lu/ U}’grl/“ u}"}» \ _é.c.w/)cnj_ 62 E
§ o > 5 u
1| none of these allvalues v two Valuﬂ;..es.q o yonevalue The jdentity (5x+4) =25x> +40x +16 is |
X\\g:\\\ “¥ true for of x.
| ¢ A E\’ . vl o Ll @f >4 {MIJE: U J>/ |
; S e S < fals ~  An e -‘a.dﬂr;( 63 E
| None ofthese An Equation  Improper A PFOPeI‘ A fraction in which the degree of the :
i Fraction v  [raction  pumerator is greater or equal to the i
I degree of denominator is called: I
I . 2x +1 i
I /“7‘?"/o'f & L 1
| i vl b ‘ (-1 f
I A Proper An S 11 64 |1
1| None of these Fraction ¢ i Improper X+ i I
; d Fraction  (x+1)(x—1) " ;
S0 e e e | =I5l "-""lf'l'U?"’Vg e _,“fl(x+3)2 =x"+6Xx+9 :
| None of these An Identity An o ner (x +3)2 =x*+6x+9is: 1
v Equation Equation - '
1 .. - X—2 I
I _u“?d}’c‘d/fj 1/632(}/ ]
| Ax+B = C A  Bx+C Ax B A B (x=1)(x+2) :
i X —1 x+2 x-—1 X+ 2 x—1 x+2 x-—1 x+2 _ - X —2 66 |
I v Partial fractions of are of the I
: (x—1)(x+2) -
form:
:;lﬂJuKAL&gﬂgé
| 1,2,3,4 I
' 8 4 0 16 vV { ’ ’3’_ } 67 |
i The number of elements in I
the power set of{1,2,3,4}
E 0 4/ 7 1 :)DU.JJUKJ’L%J)&.L {a,-b} 68 E
i The number of elements in i
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ll .I
the power set of{a,b} :
(AnB)n(Anc) (AnB)u(anc)y (AUB)U(AUC) (AmB)m(AﬂC) AN(BUC)="7 69
J‘:/JJ(C—JU' w2 :QVMJZK?IC."U
L < | -"—:f"f ‘
None of S i A collection of well-defined objects is 70
et v/ Power Set Subset
these called:

a
} . . :¢.t-M¢,¢wQ={—|a,beZ/\b¢0}
)lﬁfdbt ;lﬁl&btj sl 348 )U&ld"[ ‘ b
1| Rational [rrational Natural Whole
| Numbers ¢/ Numbers Numbers Numbers

. 71
A set Q= Ela,bEZ/\b;tO is called a

set of:
e QI W SUB S LSS e

4 3V - 1 The different number of ways to 72
describe a set are:

Lok - p
O 4 2 (E - ki < o e bl 2 U3 73
Super Set Singleton Set mp‘t/y © Subset A set with no element is called:
i &«;‘;’Lﬁt’: %du %5? %th;/;i :9.L“M{X|XEW/\XS101} -
1| Finite Set v/ Empty Set Subset Infinite Set The set {x [ xeWAx< 101} is:
5 e lE . e bl e sl P P e
e | L sl o o .
Singleton Set ‘ The set having only one element is 75

Subset Power Set Empty Set

v called:
AND)

0y v ol fa) O hmtsafects | g6

~ \ e empty set is:

v)/\\» E
g/) S -é.dn')lﬂd/dgﬂ&u{ﬂgé {1, 2, 3}
9 8 vV 6 /<\\§ 53 The number of elements in power set 77
| \r\\\;\c {19 293} IS:
s < PRRATEL
v B “/\ =
UwMNd!(LU:fU' (I) RX‘}F A e byl AUBJ» AcB 1 79
one o LT : :
these \\j\/\ If AcB,then AUBis equal to:
SAULY (I) B o 2%rﬂ4l4AmB;ﬂAgB/ﬁ 79
None of If AcB,then AnBis equal to:
these
If A=Bthen A-Bis equal to:
An(BNC AUB)NC et (AUB)UC
(BAC)  auuc), @BC AnBuC) | 81
(AUB)UCis equal to:
3 Wl 3 A B C
AuU(BUC) (ANB)U(ANC) ArUBNG) | aumaiate) AL U( A ) 82
v AU(BNC)is equal to:
e Ul AUB ;’.Uﬁ&{J}?/{ B s A /fl
BUA v (I) B A If A and B are disjoint sets, then AUB 83
is equal to:
AXB 5wl B er i3 i Sbs A ox i
:‘a.éﬂ)lpjurugjluﬁ
7 12 v 4 3 84

If number of elements in set A is 3 and
in set B is 4, then number of elements
in AxBis:

:g(jﬁ;lﬂd/bgluébfﬁ AxBin2 £ B si3s08bat A oS

6
22 28 2 v 23 If number of elements is set A is 3 and in set B is 2, then number 85
of binary relations in AxBis:

| | 1 | ) ) L ) o ) [ | o [ ) o, Y ) [ ) ) [ ()1 ) ) ) o | | | [ 1 [ (O () () [ ) O ) ) (o O o | ) ) ) ) ) G () ) ) | o ) e ) o, 1 ) ) [ ) ) (L
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l. .I
\ %pakciw.org%o DomR 7xR={(0,2),(2,3),(3.3),(3.4)} /i E
: 02,3 ) dn |
| 234 024 1023 34 <37 g |
i v The domain of i
§ ={(0,2),(2,3),(3,3),(3.4)} is ;
j RangeR 7R ={(1,3),(2,2),(3.1),(4,4)} /i ;
1 (134 {1234} {324}  {1,2,4] 0 g7
: The range of R={(1,3),(2,2),(3,1),(4.4)} I
IS:
e bttt (—1,4) 5 E
: \Y 11 1% [ ‘ AL
Point (—1,4)lies in the quadrant:
i 5 7 V 4 2 :Jﬁwd/8l‘6‘5‘4“11‘9 )y 89 i
] Range of the data 9,11,4,5,6,8 will be: i
n Xn Y(X-X) )X p | ) X=14Lrdzs o f
. ZX n n n For a given data, X =7 ;
i 7 5 3 1 . -LL.DJLFL/:?‘7‘3‘5‘3‘1 3 91 i
7 The mode in the data 1,3,5,3,7,9 is: i
1 . ‘ g | ‘ j . - 3 i
| .';WJK )ly‘gj;/'//{ Sl :é.t‘LL:(:lr‘u:gﬁ d/(f.'j} S :
| Histogram L aroupec A data in the form of frequency distribution is called: 2
I & Data Data ¢/ q y ' I
| P 5 ety ENSEL ) I EYAUTS & U |
I N - Sum of the dev1at10ns\of the variable X from its mean 93 ||
I Same One Zero v A0\ I
i is always: < _exﬂ,_«___e ) :
E Jz/)’O’ng;' 5 1()(,,7 ' 4.12‘111'(“’ le(:n)u«“ n" K._«/J"’laé._fu G Ny PR X, E
I 3 5 i
1| Geometric Me- Mod The n ﬁ\@_snwe root of the product of the 94|
i Mean v/ =l s X, ,(xz.;xgﬁ,ﬂ.; ....... x_Observations is called: i
i - N I
: L’"‘-@Tﬂ Lo Jz/:ld'/,gl Hf@\\;\f LVML#J’(}L?J:G'KJ:G’LHU K5 Ko R sresmsscs X I
i -~ 23 N i
|  Harmonic Meds Geometri c 51‘ he value obtained by reciprocating the mean of the 95 ||
Mean v/ cdian M\ r;/\ reaprocal of x,,x,,%;,.ccceeens, x _Observations is called:
| AL . v\\\ > e QU sl T 2 pooliecr s 5
- -~ e\ NI ‘ . i
| Harmonic . ‘\\‘5‘\/ The most frequent occurring observation in a data set 26 |1
i Median Mode v . i
I Mean is called: i
|| IR ol s P Ll oty 2 460 ;
i ' . The measure which determines the middlemost 97 i
I Mean Mode Median ¢/ = . I
I observation in a data set is called: I
bt o i o :uggifu/égudqﬂdﬁwo’(
I Quartilés Rance v/ J— The extent of variation between two extreme 98 [
5 5 observations of a data set is measured by:
: St Qo Loy LS e bl Yo £ =l X, (i=1,2,.....,0)
; e b’j/Id/.l:” &/.éj' _‘L.t'tfl.g( E
i R Standard Vars v _ 29 |
i st Deviation SR The mean of the squared deviations of x;(i=1,2,.....n) I
I observations from their arithmetic mean is called: I
I a«-"ib;ldu.}: u:’f/édljolc_b:lél/iau Xi(i=l,29 ----- 9n) |
i| PRy . besl ST A .- e :
Standard Range Harmonic The positive square root of mean of the squared 100
|| Deviation ¢/ Mean  deviations of x;(i=12....,n)observations from their I
I arithmetic mean is called: I
E 13 D(T/,-f S35 djl?‘/;; -Lng,;umJ}’”l/,{m’wufw‘ [ E
] Y, ————
I Il 8 non- o]  unparalle The unionoftwo ___rays with some common 101 |7
COHINEAr collinear v/ parafie | end point is called angle.
E 4503 6’ 45 21 36 45 26’21" 45()36" - :%4’/;&: 45360 "DUM 'S 102 E
j v 45.36°in D°M 'S "is equal to: :
||||||t|||'|||¥|1|i|||i||!|f|1|f|l|l|l|i|||l||1|l|l|||l|f|l|f|l|i||1|l|l||l|||Iiilllillll
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1800 7T Q:Cjiz’lﬂ' i
o 9, - " 1 :
360 180 — Y 80 lrzrad=? Pl
Oz b 27 !
907 120°v  360° 180° 5104 |
—rad =? I
3 i
1 1 , 1 1 i S K I I
— 70 —r°6 — 60” —(76)* a6 105 A
2 2 v 2 2 (70) Area of a sector =? i
:fﬁ,;ljuyﬂﬁufrd/d}f;uf E

(0 0
90" v 120° 360° 180 The angle between hands of a watch at 3 o' 106 |
clock will be:
. [ =cosec’0 i
sin” @ cot’ 0 v tan” @ sec” @ ) 107 |
1+ =cosec 0 I
2 = I
sin” @ cot’d tan’@ v sec’ O sec’x—l=___ o8]
Q’j&, e U//G PLL _ng_;ﬁ&xJ}‘?lﬁungufbﬁbﬁ/» E
_ _ An Angle The union of two non-collinear rays, which 109 |1
A Radian A Minute A Degree L. :
v have common end point is called: i
o o o o O0=__ Y% tan© = x/§ /f' ;
4 110 |0
30 60" v S 20 If tano=+/3then 6= i
1—tan® O 1+cos’ 0 l+tan’® ¢ 1—sin” 0 sec” 0 = 111 E
7 ) 5 | 1 _ Z
cos0 sec” 0 2cos"0  2sec’ ¥ rene T T smg —— 112
NE) » ;
e o — {("Losecd5’® = 113 |
2 s V2 \C,)\ 2 i
i it i
— v RS secOcot 6 = 114 |
cos 0 sin cos 0 (Y I
tan 6 () R, {b\;/ cosec’®—cot’ 0 = 115 |t
AN , , I
. ’ Jeid Loete ol 5 28”5 )
~31/0) R H
: 1) FG | TR - —
Acute-angled . fl’ - | X N‘/d ?Lﬂu | -0 116 |
v Right-angled oneofthese H.S = H.S postulate is used for :
S ____triangles. :
e Euen s A7 i e f :
s = /) M
o . 117 [
Trianple Parallﬂogram Rhombus e Opposite sides are congruent in a: :
lt':f,:sl}Ub'.L.J:,:b;L){/(z_g//bﬂ E
3o Y :fl? 1800 -< 118 |f
Acute v/ Obtuse Right Angle formed in the segment less 1
than semi circle is:
, 7 :4‘;4}“ Jendl'd' Bl 't Sl s
d=2r v d = p d=rnr d =—  Relation between radius 'r' of a circle and 119 |4
7T diameter 'd' of a circle is: i
K;/’u«fﬁunmﬁ.&.uﬁ;w[.ufm:.,w‘ww L E
.l J? e # b 10|
Sector v/ Arc Chord Diameter A of a circle is the plane bounded by two I
radii and the are intercepted between them.
i i "’ pcuzﬁ;ﬁ;:;» | ) _l‘;-_cﬁjf_,g_sﬂ,ugc.wffl el . :
Circle v Rectangle Line arallelogra One and only one can pass through three ;
m non-colinear points. i
?‘¢Jm%££u’w@ugfﬁ£;}uu/ E
4 3 2V 1 The length of the diameter of a circle is how 122 |
many times the radius of circle: i
" ¥ Kol Pl e B Pl :
of JV e e b 17302 e i
J Tangent C -~ The greatest chord of the circle is its 123 |t
Centre v Secant Chords ;
}? Je 2 /5 v _%t‘ﬂg( ;JUULJ//C.—}(/LL.j’U 124 E
o - =8
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point on the circumference of a circle?

ll .I
Sector Arc Chord Diameter ¢/ A chord passing through the centre of circle is:
; Sc (L oLl b3 S5 I
i 2 1 Through how many non-collinear points a 125 |-
I u@ pakcity.org %c circle can pass? i
i, . ey §ois _‘;.J.wwid;pa_ﬁfufﬁpuKgélu’(u:dﬁf
i b J : Ta b 126 i
1 Circle v Rectangle Line Parallelogra Lo_cus of a pointin the plane equidistant from !
] m a fixed point is called: !
| 3600 v 2700 1800 900 I ] = 127 ||
i Complete circle is divided into: -
E L5 g /5 i :é.t'uf(}}ﬂbj_)}fﬁ.—f/é:;/fb E
| . AJ |
-| Circumferenc Diameter . A chord passing through the centre of a circle is 128 |
i Secant Radius i
I C (74 called: i
E /5 j// | b5 s | | = uja_;/.:.%_ﬁﬂtd;-fénégm 196 E
i . Circumfer . Right bisector of the chord of a circle always i
| Diameter Centre v/ Radius I
I ence passes through the: I
E o /13 23 P s /b“cgéj" C%?'Ké-/f{) :%L"M!f’ﬁ';d—djwédbﬂuy'lu»:?,;"n}(;/’l; E
|| Segmentofa Diameter Sector of U The circular region bounded by two radii and 130 ||
! : . . ence of a . . I
i circle ofacircle acircle ¢/ circle the corresponding arc is called: i
JP L 73kl Vi J The di f:;.mfy?(_f};/iu’l%@ ;/(KLL_/ ’ 131
An Arc A Chord Diameter Radius ¢/ © 1§tance OL 30y paint O thet Cireie 10 s
I centre is called: I
i 2B (515 5 ; |
- m Radial Jr L5 _q.t‘M UIM_JL///'C..ML)/(LL/U i
I . . Circumfer Line segme tmmmg any point of the circle to 132 |
1  Perimeter Segment Diameter |
i ence the centre@s alled: -
| - S\S :
i " L5 p O’\\’ L"LU/ u;ffﬁb/l/c..&du’/iwﬂw(lfﬁdr’ i
i A 0713 J 12 |
i . Circumfer . . N Lf./dcus of a point in a plane equidistant from a 133 i
11 Diameter Circle v/ Radlusx\ ~ i
i ence (7, fixed point is called: I
I ..- ) - <O v e SO T 3 . I
i Mu{’ JNGEY JNGIO \;f-:‘\ (/\jﬂﬁdﬁr , , i /é:}/"'bw -éu:fgxbu’l/,}o :
1| On point . Tangent line intersects the circle at: 134 |1
- Two points  Three pomtsf No point -
; v \\\\/ i
E J‘/Mf ‘>¢ ) /[ :ujz"_m;;/»..{!u’bmlu’v K 713 E
| 15? % . . i
: g Not Perpendicula Jd The tangent and radius of a circle at the 135 :
1| Parallel perpendicul .y None point of contact are ; I
I ar I
; N2 d{U/’ s uf H ?wét?éﬁ/d/vféfﬁfigﬂjf 136 E
1| Onlytwo  Only one ¢/ Unlimited Three ShYdPy LADERIES Cal, he CrawIl L a

Ry i ey ¥ 'L E e e 150 a5
Only two onl Unlimited Th" How many tangents can be drawnona 137
v iy one MIMILE ree circle from a point outside it?
JW Jzi('j’l? y: P _%VMbUlﬁéJﬂJ}&/_gJ/‘JVLK_ﬂ)
Tangent . ¢ Chord Di | A line which has only one point in 138
v ccan il L common with the circle is called:
ﬂ// JW J,}'Cfl?’ /‘ﬁ -l du.fl_a/(/b_fl 139
Centre ¢/ Tangent Secant Chords A circle hasonlyone
S . L o bV PTQ Ut St b
BEEL] - Sa L JIL i .
i —— A Tangent P An Arc . I In the adjacent figure of the circle, 140
v ~ theline PTQ is named as:
Secantb 71 b KG_/'} Sinek«_71s :uj:J:U!ZJ}:}L@»JVLLﬂJLJ?HUQ
Secantofa . angent Co-sme Sine ofa A line which has two points in common with a 141
. Tangent of Cosine of . . .
circle v/ . . circle circle is called:
a circle a circle
Secantée P Kt Sine¥_1s & enS P B AL K L 142
Secant of a Tangent Cosine Sineofa A line which has only one point in common with
L 'I
||||||t|||'|||i|l|i|||i||!|f|1|'|1|l|1|i||||||1|l|||||1|f|1|f|1|i||1|l||||||||'11|||1|||1
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l. .I
circle Tangent of Cosine of circle  acircleis called:
I a circle v/ a circle i
; v LBL;LJ@JJV;{;:Z‘/)}&” ,bﬁ&:/;i.;.}l;,{l E
l/u.f s 44 3 ot 143 [
triple double Equal v half Two tangents drawn to a circle from a point
I outside it are of in length. i
i S, 3 7 AP by SLi 2K 25 L] 144
| Centre ¢/ Diameter Chord Secant A circle has only one: i
E “f-. . o Yy J f 3 e : - E
| A S b 45BE e B S B -
j| o polntat Single LW hreg A tangent line intersects the circle at: el
all Point v/ Points Points £ '
Y%t J”'f" d}f:’j gl Y, P u:u%.-wuZ;gu,/LﬁL;;u E
‘| perpendicul . non- Parallel Tangents drawn at the ends of diameter of a 146
i collinear , ;
I ar parallel v circle are to each other. I
i . J&L?‘ : (33’:' J;dl;&b‘éuzgl}dﬂ//gfl}‘}vJ;//ln_{l i
J Vi 4L il - :
i Incongrue _ | & (147 |
| Congruent Equal Unequal ntv  Thearcs opposite to incongruent central :
i angles of a circle are always: i
b ,;Udﬂ//lﬂg’_ﬁd Lo !
i 360° 2700 1800 v/ 900 The semi-circumference of a circle subtenda 148 |
1 central angle. I
| J:L?‘ J“L?‘/;‘ 0 P u*gfjfo:u'fic:..UJ})uJE_}ULS}(/J“L}"JJ :
I AV AW _
| Congruent Eaqual U | Incongrue A pair of chords of a circle which make 149 |
i v e Hequd nt congruent\(cen*tral angles is: i
E ﬂ)l,/\j/ci’w}ic:.—/}}’u}"flfut‘LJJJUJJ}’/}JL/')uﬁ E
; 0 0oy 0 0 \ oY _Ky' E
I 80 60 30 2 0 The length of a chord and the radial segment 150 |
I P W;/’ “of a circle are congruent, then central angle I
D Sl made by the chord is:
I dJUJr‘; ,;dl}d?// ,..f)lj?jj N \C yfj,/b -Ujé:")/y(éﬁ sl 13;:”. U.L;"J)LU}”}}}){:}(/L;}')L{( :
| Incribed Central Quadrantv\/ " Right  The angle subtended at the centre ofa circle ~ 151 ||
i angle angle v/ anglé angle between two radii of circle is called : i
- < \\/ 7~ B
[ ﬁc 52 \;} g -gt’l}y(_ﬁdfﬂg'ﬁgjl:o/ i
I ) . Any part of a circumference of a circle is 152 |
Sector Arc v/ Chord Diameter oW as
f K WS L e 60° S KT L :
S0° 60° 40° 20)° If an arc of a circle subten-ds a central angle of 1c3 |-
i 60°, then the corresponding chord of the arc i
I will make the central angle of: I
e b ,ﬂ)d?’//ﬂfﬂﬁgﬂ; E
i 360° 270° 180° v 90° The semi circumference and the diameter ofa 154 |
circle both subtend a central angle of:
| o 7 of | P ¥ - = |
i LJ:‘J()/C-—JU’ Eptly G [LJ’M -Jﬁ_dHJ)u’L&lSOD g}ljd?//h{;.f'b//l i
1 Double of Equal to Less than . . 1zt |-
i None of . . . The chord length of a circle subtending a i
I the radial the radial radial . i
I these central angle of 180° is always: I
: segment segment ¢/ segment !
| & . “ Jﬂ J.W;" dfﬁ .LL’Z:LJ{}U dy/ J”L":‘ : 3) J:Lj')ug I
I sf . J S % FUEE i
- _ Dl -JF 156 |
1| Perpendicul Incongruen Congruen - I
i A Parallel t v £ The arcs opposite to incongruent central i
I angles of a circle arc always: I
E T v T i T | | _.é.l:’ﬂ,:ﬂ)/f‘i‘;u’:;-/’bﬂ 157 E
- 2 4 6 An angle inscribed in a semicircle is: |
| & T g |
I . . . The word geometry is derived from 158 |
i Amrican Greek English Latin 1 -
I etters. |
||||||t|||f|||¥|l|i|||i||!|f|1|f|l|l|l|i|||l||1|l|l|||1|f|l|f|l|i|Iillllllllllfillllillll
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[
I

_é.l?'ﬂ,:JUbeL‘J:JQL){/FL;//bJJ

wb 2 A 1800 - 159
2 orite v Obtiise Right Angl_e formaa in the segment less than
semi circle is:
i gl o{’ba/"V a//l)b“flg s | _é.t'jvz_a/’bmt';fc..ufu)ﬁui&ﬁ e
L circle circum escribe None The circle passing through the vertices of
PERIEE circle v/ circle a triangle is knownas _____
3600 9()o 1800 1200 ¢/ -C.[;'}’K ,-f)ljdﬂ)l/'{u,k"fb/ 161
) Each angle of regular hexagon is
akcity.or , . : ,
%p ty ore %} Bt )'///y‘; _%?M_L./J”/“:in’duﬁl/u:’pL&L’-’*ﬁofl)o}
I o O/ " In- VS, The circle which touches the three sides 15
Circumference e centre Centroid of a triangle internally is called:
centre v
W Jas /5 73 _é.l:'l,lv:(bg'(;fl) 163
Boundary v/ Radius Chords Diagonal The circumference of a circle is called:
W BEE y 5 bWl S e .,
Tangent Secant v/ Chords Diagonal A line intersecting a circle is called:
Jz>’(5 Jpﬂ/{ i Lfi’?/:; _u.?é'_ﬁu’l,//?wa/ﬁﬁﬂgjb
. non- Tangents drawn at the end points of the 165
collinear , parallel unparallel . : .
collinear diameter of a circle are:

?ujél?Lb;JL-’J}& zéu;/’bi.ﬁf_/u/»
4 3V 2 1 common tangents can be drawn 166
for two touching circles.

(S L il s

eSS as ] | o s ] i [ e s | s o ] i i s s e o s ] e e e e i o o] s o ] i s ] s s o o] o [ | | o | s o] s o 1] o | i ] s o | " o | st o o] = | s || | o | s o] s | o s i s | s [ ot o = ] o s | s o | ] | s ) [ o s s e ] s o | o s [ ot 1 1 [ e s s 1]

| S | 1 | ) ) ) ) ) o ) o (o ) | | (o (S S [ o, ) |/ ) [ o ) S ) ) O e | ) ) o 1 ) O () ([ [ ) o o) | ) ) () ) o e (o 1 ) ) ) o ) e ) o A ) ) 1 [ ) o [ [ o ) o o (|

4V 3 2 1 How many common tangents can be 167
drawn for\two disjoint circles?
J&L}" )85 - B ij’;"/j \. /_./nbfl{u’bu:lu’l/ K71
Conerusnt Perpendicul Tlel ol T\he tangent and radius of circle at the 168
- ar v/ pardte e eé pmnt of contact are.
T T T %\([Q\g) > _%dﬂﬂﬂf‘ J%)l)dﬁ/:éu’ﬂfb}ugl
3 v 1 3 AN The measure of external angle of a 169
.\:6“)'@’" regular hexagon is:
- T 7 (VY e bas§upib sl B
3 2 Y P v The measure of external angle of a 170
'\’?}“‘\\6 regular octagon is:
™ ch.lu,?é./;ﬁ(f Jtéuzgl}&y,ﬁlé&ﬁ"uj
Sogt | T2 | o
?//a/"v / In- V// . . Sk 171
Circumference Ortho centre Centroid Tne internal blsector_s of the angles of a
centre v triangle meet at a point called the ...... of
the triangle:
' L1 n B AL Lo L_%L"‘AJ(
S ol S8t P i, g K a5
Circumference Ortho [n- Centroid  The point of concurrency of the three 1
4 centre centre perpendicular bisectors of the sides of a
triangle is called the ....... of a triangle:
_1,,.'97‘}2};(6’5/{ b)b’,b,'aﬂ ) Z:j’f ______ /Ql;qj}faﬁﬁugbﬁﬂupc.ufgdf
Non- <4 L - 173
Concurrent . - -
concurrent points ¢ Triangle Rectangle  Three or more than three lines passing
points through a point is known as .....:
Concurrent ¢/ Radius Chords Diagonal ot R e
triangle are:
bt LA ¢ Y oo s | L n BAU AL
Non- : - All three altitudes of are concurrent: {7t
Concurrent Triangle
concurrent oints v Rectangle
points P
||IIIItIIIIIIItIlIiIIIiII!IiIJIIIlIlIlIIIIIIIIiIlIIIIIlItIlII'IlIEIIiIlIIIIIIIIIlJIIIIIIII
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Subjective Portion 48 pakity.org G-

Q.No 2: Short Questions

1. Write the quadratic equation in the standard form L5558 e tolr B yissl AT ol sedil s
and point out pure quadratic equation. ' . )
x+7)x=3) =~
(x+7)(x—3)=— ( ) )
2. Write the quadratic equation in the standard form = 2B S eble Gnriyen &L DALY S dal s
and point out pure quadratic equation. * 1= ik !
x+1 X =6
X
3. Solve by factorization: 3y% = y(y — 5) 3y2 = y(y — 5)-u /S5 24
4. Solve the equation using quadratic formula: ZE P e Sy 5 5ssnsd mtals
2 —x%=7x . 2 —x?=T7x
5. Define second degree equation and give an example. e sty S Fletsls G
6. Write standard form of quadratic equation and _uf“/ Ut 565 S LS ashsss® Sukan S obsln Eusss
formula. i
7. Define Reciprocal equation. S P et F
8. Define exponential equation. NS RS
9. Define radical equation. NSy S
10. Write names of methods for solving a quadratic _Jf’g e LU L5 S F S eblams
equation.
11. Solve:x* +2x—2=0 X2 +2x—2=0.U0/F
. T (0 .
12. Solve with Factorize : 5x% = 15x @Q\Jf 5x2 = 15x.g/ 7 24
13. Write in the standard form of the equation ) \‘{\O I S 3_df’g P Sl S bsls
1 + 1 _ 3 4 %\\ x+4 x—4
x+4 x—4 , @ 2
1 9 d 1 9
14. Solve : (Zx — E) =g %§5$ (Zx — E) = Z-u.:/dp
15. Solve:v3x + 18 = x @ V3x +18 = x-u/ S
Q ON )
16. Find the discriminant of the follgyé given 6x2—8x+3=0 _ir,bfoﬂg)gm,p@;,,
quadratic equations; 6x? — 8x '

17. Find the nature of the ro s he following given JM’JJ”L/JV}(&,,L,Mgﬂh/rQ,JJ’ZJL o lyls
quadratic equations and Verlfy the result by solving the d '

equations; x* — 23x + 120 =0 =
6x°—8x+3=0

18. Evaluate (9 + 4w + 4w?) (9 + 4w + 4w?) - pbr

-1vT3) | (-14E) 1Y | f-aEY

19. Evaluate( - ) +( - ) ( - ) +( ) S
20. Evaluate w*” + w3® — 5 W37 + w38 — 5
21. Evaluate o™ + 0=V W™ 4+ @1 g
22. Prove that x® + y° = (x + ) (x + wy)(x + w*y) X34+ 93 = (x +Y)(x + 0y)(x + w?y) SZE =
23. Without solving, find the sun and the product of the x2 —_zt b S ol o B L P sl s
roots of the following quadratic equations. ' ' i Ex 43 =0

x*—=5x+3=0
24. Find the value of k if Sum of the roots of the equation x2+ 3k —7)x + 5k = .;._,;,L,,.ﬁdfr,lv;,gt{l(

2 - — T 4 b )
x“+@Bk—7)x+5k=0 is > times the product of the ‘LL”/E 6 S LSl g6 n L0

roots.
25. ifa, B are the roots of the equation x% + px + g = 0. e Lidun S ul 1% + px+q=0. =bl- B
; a P
Form equations whose roots are B % | g- Sl
26. Write the quadratic equations having following 14+i,1— i_g.:""j P4 1,V&J;,;dlgfgj

roots.1+i{,1—1i

27. Ifaf are the roots of the equation x* + px +q =0. . A 5w/ vl x® +px+q=0cil aB/
Form equations whose roots are a?, 5? 2 #2
as, [ - tetsls
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28. Use synthetic diyision to find the quotient and the -t Qs Sos w2 S e ¥ i
remainder, when (x%2 + 7x — 1) + (x + 1) o | (x2+7x—1)+ (x+ 1)

29. Find the value of h using synthetic division, if 1 is the x3 _— /ﬁéﬂt"‘agd/hc.g)lﬁ’lﬁﬁyu{}
zero of the polynomial x3 — 2hx? + 11 ,
(—1+vV-3)°+(-1—-+-3 )6_J/p’~".u’

30. Evaluate (—1 + v—=3)° + (-1 —v/=3)°

31. Define symmetric function. Iy S feS
32. Define Simultaneous Equations. S Sl 2
33. Discuss the types of equation roots? x* + 6x —1 =0 x2+6x—1=0.- g&;/rg,‘jjﬁgw,v
34. Ifw = 1+2\/_ then find w? Erkw? Jrw = _1+\/_ J
35. Prove that the sum of all the cubes of a unit is zero? e b oK o 2L J¢ ’,/J S
36. Find the product of the unreal root cube of the unit? -ér}”f/"fweﬂd'wtﬁ?/:’ﬁdg
37. Find the value . w37 + w3% + 1 W37 + w38 + 1S
38. Find the value - (1 — w + w?)® (1— 0+ w?)b_ySrhred
39. the-product of two positive consecutive number is _szr;y),ﬁ,_é_182vﬁdﬂw},ﬁ,;‘;«,d’"‘”
182. find the numbers
40. the difference of a number and its reciprocal is %. ST SV 14—5 S Lk

find the number.

41. Express as a ratio a:b and as a fraction in its simplest 27 min 3 Osec, -7/ 6 EF TS S na : bes
(lowest) form. 27 min. 3 Osec, 1 hour i

1 hour
42. Express as a ratio a:b and as a fraction in its simplest (_7\5 225°_. g/ 6t F T S a: bes
(lowest) form. 75°,225° __\x by <
43. Find the value of p, if the ratios 2p + 5: 3p + 4 and \4@”‘/'/3 Asp+5:3p+ 42050 é’,,b/_/sd/p
3:4 are equal. X \,\\, N )

44. If the ratios 3x + 1: 6 + 4x and 2: 5 are equal fll%d) _ér,b»_,;‘;x,;u”,jz 5.3x + 1: 6 + 4x U
the value of x

45. Ifa:b = 7:6. F1ndtheva1ueof3a+5b 7b/-<-~ a _ér}VJJa+5b:7b-5aa:b=7:63/‘7

46. If y varies directly as x,and y = 8 wheﬁ x = 2, find x Bx ;gr,w;,zx =2.6y=8 ,,,uﬁuzw.,jxj,;yﬁ
when y = 28 N \ ) ' _

QAR y =28

47. Find the values of the lette\m\volyed in the 8, x, 18- 4 AP o

continued proportion. 8, x, 18

48. If y < x,and y = 7 when x = 3 find x when y = 35 y=35~gx_£r,bx;ﬁng_,ey= Tilsy X X P
and y when x = 18 ' '

-ex=18 Ly
49. Find a third proportional to 6,12 6,12 éf’l”"-"”t;’/
50. Find a mean proportional between x2 — y2,—= x2 — y2 == y_ér,lv_,,mdb,
X+y "x+y
51. Find a fourth proportional to 4x*, 2x3, 18x° 4x*, 2x3,18x° 2 ol i3 2
52. Find a mean proportional between20, 45 20, 45-25 -4 AT bs
53.ifa:b=c:d,{a,b,c,d # 0) then show that 2
. { ) 2 = "f“ Szekiab=c:d(0 #ab,cd/l
a__  [a*+c? b b
b N b2+d?
54. Define joint veriation. Ny N
55. Find x, if 60m : 90m :: 20kg : xkg ~60: 490 : (1/520 rl/ﬁ é(:“’x
56. Find the cost of 15kg of sugar, if 7kg of sugar costs F’J”'-"”f JJ?F'/’KIS 923,560 b"*"..d/dfgr'/’ﬁ /i
560 rupees. &
57. Define direct variation. S Fd Ao
58. Define inverse variation. g Sy
59. Define componendo dividend theorem. TS e 5

60. If y varies directly as x, and 7 =8when X = 2 find yin
terms of x.

U:XJJ}’;”XZZ-?y=8JJ'U)€u:£M’U/,ﬁyjﬂxﬁ
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61. Find x, if 6:x:3:3 _épl’”x?6:x::3:5/7
62. If u and v varies indirectly, and "=, when V=3. Find gt e d S v=3cau=8uny & Uty i i
vwhen U=12, -vu=12
63. Find the fourth proportional to 8, 7, 6. Sk 266,78
64. Find a mean proportional to 16 and 49. St A 3LaK49 16
65. Find a third proportional to 28 and 4. _GE et T8 4
66. If y « xz—zandy = 28whenx =7,z = 2then find y. -é(ﬁb”y;ﬁxz7fZ=2h,ﬁ:y=28J}|yocX;2 [
67. If ““*and 2=36when X=2, Y=3then find z. LS Inx=2cy=3c22=36szxxy /]
68. [fw x vizand W =2when V=3, then find w. S W Inv=3aw=2swx éfl
69. Find x, if 6:x:13:5 b 36:x:23:5 ]
70. If 6: x:: 3: 5 then find x ?ér,b/tlxn;jx::g:s:6ﬁ

Q.No 3: Short Questions

: _ _ X~ X—1.1 r .
. Resolve into partial fraction. ) (2 43) e _qj/ Jy Un U / $s7
_ _ _ X=5 , x—5 7 .
. Resole into partial fraction. 2123 QCQJ\ 1303 WL K Aus LIV
. What are proper and improper fractions. SOl sl s

QK\O@)
%QB\E;

X—2 e % X —2
1 1 > Cor v 7
4. How can we make partial fractions of IV @ u:uc lydb.Z/}’u/ 67 At D13
| & 1 v
5. Resolve into partial fractions: —— @ 5 =y K S ez
X —1“_&\:‘ <& X" —1
@YQ
. . . 3 s : 3
6. Find partial fractions of = @}“‘L D _é r}”;/ Sz d DD
7. Resolve into partial fractions: A 5 2 ; “é J.y“ u.‘.',f/ SIVA
(x—3) (x—3)
8. How we can make the partial fractions of ) <
X, s bl AU S
: (x+a)(x—a)
(x+a)(x—a)
9. Whether (x+3)* =x” +6x +9is an identity? ?ﬁ-_@f[/_,g; (x+3)2=x>+6x+9 |
10.X ={1,4,79}and Y = {2,4,5,9} Then find: XU Y XU Y _.@/r,lw‘;? Y ={2459}sX= {1,4,7,9}ﬁ(i
11.IF X = {1,4,7,9}and Y = {2,4,5,9} Then find: xNY XNY -/ PPIY = {2459 }iIX = {1,479} J1Gii

12.FX =0,y =72",T = 0", Thenfind XU Y
13.| FA = N and B = W Then find the value of A — B

14.1F A = N and B = WThen find the value of B — 4

XUY -/ r#iT=0,"X=0,Yy=2" (v
A—B_y/r# =B =WisA=NJ

B— Ay /s =3B =WuslA=N/]

15.1f X = {a,b,c} and Y = {d, e} then find the number "JJU*’/J’LU;-*“L}/EJJA?JW? Y={de}s X= {3,17,0}/

of elementsinY x X Y X X _u:/r,ly
16.I1f L = {a,b,C}and M = {d, e, f, g} then find two @"JGL’?” Z:H.C'/?J."E’/” J M={detg} s L= {3’b’0}f'
binary relations in each: L X L LXL.y /r,b»

[ (@)
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17.Findaandb, if (a—4,b—2)=(2,1) o@ pakcity.org %v

18.Find aand b, if (2a+5,3)=(7,b—4)

19.Find aand b, if (3—2a,b—1)=(a—7,2b+5)

20.Find the sets Xand Y, if
XxY ={(a,a),(b,a),(c,a),(d,a)}

21.1f X={a,b,c}and Y ={d,e}, then find the number of

elementsin YxX.

22.What is meant by union of two sets.
23.Define cartesian product.

24.Define ordered pair.

25.Define binary relation and give one example.
26.Define domain set and range set.

27.Define Bi-jective Function.

28.Define function.

29.Write De Morgan's laws.

30.Show A N B by Van diagram if A € B.

31.Show the van diagram A n (4 U B) N

: . A f"\,'-l‘__)”/
32.Define Geometric mean. <O
. : \\ <> \‘\J\,\-'
1 - AN
33.Define Harmonic mean. A J
~AAN
¢ ™\

N\
34.Define Arithmetic mean. ™~

35.Find arithmetic mean by direct method for the set

of data 12, 14, 17, 20, 24, 29, 35, 45.

36.The salaries of five teachers in rupees are. Find
range and standard deviation.

11500, 12400, 15000, 14500, 14800

37.Define mode.
38.Define median.

39.Define class limits and class boundaries.

40.Compute arithmetic mean using indirect method:

12,14,17,20,24,29,35,45

41.Define mode and range.

42.Define variance and write its formula.

43.Find the standard deviation “s” of each set of
numbers; 9¢3¢8¢8¢9¢8,9,19

(a—4,b-2)=(2,1) S # b sa
(2a+5,3)=(7,b-4) [IZE# b sla

(3-2a,b—1)=(a~7,2b+5) S5 b sla

XxY ={(a,a),(b,a),(c.a),(d,a)} S+ Y X

:é(P;iﬂJuK;!Lqu/?Y ={d,e} s X={a,b,c} S

Y x X

sl e Ly Lures
-va?}JvﬁJibeig

P T

LI Ly S P S e

Sl e G gt
?;.M,MJ‘WQ%J@

WY At

<) AL LSS
#ACSB Sy et /i /ANB
'y et e AN (AUB)
Sy RI]

S Sl BT A

BT e

Q[(}WL/AFQV%U"J};JXJ‘LQ{)’&;/ﬁbﬂfﬁﬁ
45,35,29 24 20,17 ,14 12

..LJ:/()L”'JlfO’dJ.l:MJ:iM 1] 6/)@lﬁngfofwé£
14800,14500,15000,12400,11500

_Q/_@/?d;)lo
..U:/;..Q}J:}lb«)
-‘_g/‘_@/?'d/;wﬁ’m&:"”m;mé’m

r)J‘"L-/ﬁ!L}L’K)lfdj,g)ﬂc;.‘é{}(u@f//g;)bl)[:
12,14,17,20,24,29,35,45: 5

S Y NS
i Sy PSP
IS A
8,9,19.9.8:8:39
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44.Write three characteristics of arithmetic mean?

S 1f ehor® S Sl

Q.No 4: Short Questions

1. Express the following sexagesimal measures of
angles in decimal form. 60°30°30"

N

. Express the following into D°M'S" from 125.45°

Express the following angles into radians. 135°

Express the following angles into radians. —150°

Convert each of following to degrees. %

| G| | L9

Find the distance travelled by a cyclist moving
on a circle of radius 15m, if he makes 3.5
revolutions.

Find 6 when:1 =4.5m,r = 2.5 m
. Find r, when: [ = 4cm, 6 = iradius

. In a circle of radius 10m. find the distance
travelled by a point moving on this circle if the
point makes 3.5 revolution

what is the circular measure of the angle
between the hands of the watch at 3 o clock?

10.

11.

Prove that. (1 — sin 8)(1 + sin 0, &ch
~R

Verify the identity: (ta@@@) tan  =sec” O

Verify that: cotOsecO=cosec0O

12.

13.
14.

15. Verify that: tan® 0+ tan” 0 = tan” Osec’ 0

sin®+cosO

16.

=]+tan0

Verify the identity:

cos 0

sin” 0

+cos0 =secO

17. Verify the identity:

cos 0

18. A tree casts a 40 meter shadow when the
angle of elevation of the sun is 25°. Find the

height of the tree.

Find the angle of elevation of the sun ifa 6
feet man casts a 3.5 feet shadow.

19.

20.
21.
22.
23.
24.

Define sector.
Define angle of elevation.
Define angle of depression.

Find r when |= 56 cmand 68 = 45°

Find tan @ when cos @ = % and terminal side

of the angle @ is in fourth quadrant.

25. Find the area of the sector with central angle

T . . . .
of 3 radian in a circle of radius 10cm.

What is the length of the arc APB? ”8

1\
N

AR FE 20t 5t st S UL S
60°30'30"

125.45° .7t S”sDoe M S 50000

135° _ ¥ s isd Ut

—150° - b s Ut

e S

(6.£3.5 e 215 KIS L i Lir £
W UL tig

l=45m,r = 2.5 m:.{eéﬁ”‘@

[ =4cm,0 = %:J{?ép‘”r

JEI0U Ky Bl & b S6 2355 L o 215 55 L

(77 =43.5)%

{@W,n;uﬁJjg,d:/”lwy,uéufﬂfd}f;3
o & S4S APB U7

(1 —sin@)(1 + sin @) = cos? .S S =k
(tan 0+ cot0) tan O =sec” O :é;v:lf‘fafl/
cotOsecO=cosecH Sz

tan* 0+ tan’ 0 =tan’ Osec’ 0 : i

in 0+ ;
sin 0+ cos O L tan® s bl
cos 6 =
sin” O :
+cosO=secO o fieds
cos 0 )
Seibesnc 250 152 bty o 2 40 Abes ]
R
_4“..&'33.5,:ng;7.£¢.3 6435{#’)?‘150%//%
-”é._fl{/'?d/o//l}cw/f?
_Q:/u-:‘:'/jd/)wd}’j

_é(k"&grd/;ﬁe =45 111 = 56 cm A 2

-~ ” o 9 £
e anBin LG E 2 S 180 sIcos O = H/'

-4{‘.%’2)% ,:3')1)'(10 JUJKJ’ﬂ?é/ringggjbcw

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

Please visit for more data at:

www.pakcity.org

Om

(@)

| | 1 ) ) ) L Y ) o ) o (o ) | ) | (o (S [ S, ) | ) [ o ) e ) ) V(| ) ) o 1 [ O () ([ [ | ) ) | o o) ) () ) ) | () 1 ) ) ) 1 ) e ) o A ) ) o ) 1 ) o [ o o ) o () o




www.pakcity.org QMathematics Guess : Class 10th
26. If tan0= ig-, then find the values of other AT NPT J5 ~
2 e S U3 F Bl tan 0 = 7/:

trigonometric ratios atf.
27. Iflength of the chord AB = 8 cm. it§ distance rﬁl’”ﬁgof’ﬁd’;ﬁf3yﬁa—f/KJ’JJ'ﬁfSéwffﬁﬁﬁ

from the centre is 3 cm then find the diameter

of such circle. -/
28. Define center and radius of circle. _.u;/ P S iz L
29. Define circumference of a circle. _qj/ 7 J. [P
30. Define a diameter of a circle. -g/ — /3' 1 B s
31. Define collinear points. JIy b3 A
32. whatis meant by Non-collinear points. Sl U e bks A P
33. Define secant of a circle. Vel e 6
34. InaAABC, calculate mBC when mAB = 5 cm,mAC = &./¢#mBC J: AABC

mAB =5 cm,mAC = 4 cm, mz£A = 60° 4 cm, mzA = 60°
35. Define projection. G ASF
36. Define cyclic quadrilateral. E S e B
37. Define and draw the escribed circle. _g_tﬂ,fmébg / Jajl;uf b
38. Define Polygon. gl e &
39. Define and draw the sector of a circle. _.ufufm_@ j" Sos13,9%°
40. Define circumcircle. B Q@ Tl sy
41. Define Isosceles triangle. _q/.yide@Ju,u

0

Solve by completing square: 4 —

286
(P

Q.No 5: L.ong Questions

— . S—

N M

)

8 _ 3x%+5
3x+1  3x+1

Solve the equation using quadratic formula:

Solve the equation using quadratic formula:

Solve the equation using quadratic formula:

V3x2 4+ x = 43

ix)

solve the equation. — + 4 (x;g) =4

xX—3 X

xii) solve the equation. 4.2°**1 —9.2* +1 =0

xiv) solve the equation.

Vel +x2+1—vxt+x—-1=1
Solve the equation: J4a+x —Ja—x =+/a

Solve the equation: 2x* —11x*+5=0

Find the value of k, if the roots of the following
equations are equal. 2k — 1)x* + 3kx+3 =0

Show that the equation x> + (mx +c)*> =a” has

Solve by completing square: {sz":t\/ +n=0+4+

Ix*+mx+n=0,¢£+0 :édp&/ﬁ“;j)j;

8 3x2+5 2
4 — =X o PO ST i

3x+1 3x+1

X+2 _4-X — 21 :45}'»1)’5 S s B S
x—1 2x 3 -
4 b =2 :{J’r JW‘IZ_U:"JB&»»
x—b x-a

\/§x2 + x = 4\/§ _?ffdpf JL*'*"’ILUY‘JGL,{»»:(&I:L/

X + 4 (x;3) = 4_égf J(u.“.'.«lJL»-‘

xX—3 X

4.2%%*1 —92% + 1 = 0.25F S enl-(xii

VaZ +x+1—VxZ+x —1 = fen(xiv
1

\/4a+x—\/a—X=\/g :édp/&ljlw‘
2x* —11x>+5=0 :ZE S =hl-

uj”é 2k — 1)x* + 3kx + 3 = Oal:L»J,J,?Jﬂﬂ
Sl d KU,

=

- »
LUl L x2 + (mx +c)* =a? al:le”éa;l:‘
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equal roots, if ¢ =a*(1+m?)

For all values of k, prove that the roots of the
equation x2 — 2[1( 4 "112]" +4=0,(k = 0)are real.

Provethat x3+y3+ 23 —-3xyz=(x+y +
z)(x + wy + w?z)(x + w?y + wz)

Prove that: 1+ w)d+ o)1+ o*)1+o®).....2n factors = 1

Prove that: x° — y3 =(X—y)(X—oy)(X— 0)2y)

Find m, if The roots of the equation x? + 7x +
3m — 5 = 0 satisfy the relation 3a — 2 = 4

Solve the simultaneous equations.

x% 4+ 2y* =3;x*+4xy —5y* =0
the product of two positive consecutive number is
182. find the numbers

15
the difference of a number and its reciprocal is e

find the number.

c=a’(1+m°)
sz—z(mﬂxw:o,(kim ai,ug_éu;{"(uﬂfk
_.uj'(}?uju

x3+ 93+ 23 =3xyz = (x +y +SZE b
z)(x + wy + 0w?z)(x + v’y + wz)

A+ o)1+ 0+ )1+ 6)....2nfactors =1 “éc::b"
X —y =(X—y)(X—0y)(X—n’y) I:é.:,—l:‘

uju£x2 +7x+3m—-5=0 ..:.«Lel,«‘/flg_):/'/,’)i’”:afd/
..LZ/..;::L"‘)(?)CK— 20 =4 JJ'JZQ_)

-u:/(qu:J}L—-‘Jl/'?J“},?Jﬂ
x%+2y° =3;x*+4xy —5y* =0

..g_):/ryl"”:l,wl..c‘-l8251#/'2",}/(;7(}1,@!4‘;5&/»

15
_u/pb’m._c.—u/wﬁ‘éwmmu{l

Q.No 6: Long Questl

| e s e et [ [ e e T s s e (s e e ) s [ ) s [y (O ) Sy [ ) i ] ] () (Lt [ [y [ [y i Pl e (1] ] ) e e o) (e ot o [ o [ [ (i () P ) ot () [ [ i (1 ) Fd (Pl il ot o il (i ) Pt () [ [t o ] (1 () P D () (] [ ot [ ] (G [ st ) o (s | ] st it At [ [ o i ] ey [y (L ] (] ) (o [ [ (e [ ] ) oy ] iy [l o [

Find x in proportion: p> +pq+q°:x:

If RcTand R=5whenT =8, find the equation
connecting R and T. Also find R when T =64 anf@

whenR =20. \ S
Pz—ﬂf\&,@

ot )’pz—pq+q2

Find a third proportional to:

Find the values of the letter involved in the given
continued proportion: 7,m-3,28

Using theorem of componendo-dividendo find the

value of m +5n N m + 5p 10np
m—35n

,ifm:

m—5p n+p

Using theorem of componendo-dividendo find the
Xx—6a XxX+6b if x — 12ab

value of ,
Xx+6a x-—6b a—b

Using theorem of componendo-dividendo find the
_ 6pq
P—q

s—3p+s+3q o

value of ,
s—3q

s+3p

Using theorem of componendo-dividendo solve:
Jx2+8p%—/x2-p? 1

Jx2+8p2+,[x2—p2 3

If (a b,cd,e,f # O)% = % = ;, then show that
2/3

act+cetea [ace
bd+df+fb  Lbdf

If (a,b,c,d,e, f # 0)% = g = %, then show that

(p qQ)’ 0%\*\9%(1 IX:
%5&9

3

.,ép"”:«%lfxu-fww

(p—q)°

EZ i enlaf T MR IT=8 GR=5xRxT /]
nR=20 25T sT=64_22# R

p’—q° pP—q

, P
D+ P —pa+ (U

_“épj"’;gd/m -é.ﬁwti'd’yui’ 7, m—3,28

(!L"'u"’d/m_*_Sn m+5p , .- )’JW,J‘}‘W“@},

m-5n m-—5p

I1-|-p
;ci:r':b”JJX Za X+EE :..ya_./dl.zfl_,v’d"‘”;._/‘?y
X + 0a X —
. 1221b/fl
a—>b
S d S S“ip qu Lnl Seerd S
S + p ' R q
_ns="2PL
P—q
j«/x2+8p —sz—p 1, 3 S et b, 5
N i gz_ﬁd_ e e 2 _d 7k
actce+tea o a_c_er
odrd D =Sgeti(ab,cdef+0), =-= e
ace]2/3
bdf

ac . ce s — = - =2/
S —_— T = T e l
bd+df +f“é...,;L;’(a,b,C,d,€;f¢0)b d f/

= I i = = = S R e ) [ = ) = e ) ) ) [ I e e = R e U T e e | = I 1 ) ) e T T T [ S e ) U i ) T [ ) e ] i Y O e VS B 1 [ ) T I (e I ) | e e e I e S R e == =
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Resolve into partial fractions: o i};;(r;r 3 > 43:)4("::+ 3) =y J:L’” S S Se7

Resolve into partial fractions: 63X:2+_5;: :17 6;: +_52Xz_1 =y J"” JUs S8

Resolve into partial fraction. ﬁ: 3+1 Jr o 87

Resolve into partial fractions: - _1)(9X 2 i 1)(9x 12) =y ‘_}:V“ S 57

Resolve into partial fractions: f ' +_1 ;( ] .,éJ-’-b: S’ $97
x2(x —1) X" (x—1)

Q.No 7: Long Questions

FU = {1,2,3,4,5,6,7,8,9,10}A = 11,3,5,7,9}B = 123,57} =B{13,579} = A{U={123456789,10}.11
{2,3,5,7}Then verify the De-Morgan's Laws i.e , ! ! e oo

(ANB) =A"UB’ (AnNB) =A"UB _¢/qMdeliJ3Ldj
If U — {1,2,3,4—, ,10}A — 1,3,5,7,9}8 — {1,4,7,10} B = { 1,5,8,10cA= { 1, 4’ 7’10}‘U - { 1’2,3,4, . 10}})7

Then verify the questions - (AUB) = A" UB’
Sl S 50095 C= {1, 5,8, 10} .

AUB) =A"UB’

fL={x|xENAx<S}M=| fL{y |y € pAy < L={x|xENAxX< S}M—IfL{nyE/(xw
10} Then make the following relations from L to M @
R, ={(xy) |y =x} J:Iu"ud/ J:JI:/{,MLL%.LJJ,?J,UM’ pAy < 10}
@&\\O R, = {(x¥) 1y = x)-u2%
If L={a,b,c} and M={d,e,f,g}, then find two @% bl LXLxM={d,e.f,g} L ={a,b,c} /i
binary relations in L x L. @ ..é(:l’”
If A={1,3,5,7,9}, B=1{1,4,7,10} and <>@ »B={1,4,7,10} :A={1,3,5,7,9} /i
U=1{1,2,3,4,..,10}, then verify (B- "UA. _;‘:&;E-g/(B—A)’:B'uA JnU={1,2,3,4,..,10}

If A={1,3,5,7,9}, B={1,4,7,1 JnU={1,2,3,4,..,10} s B={1,4,7,10} : A={1,3,5,7,9} /]

U={1,2,3,4,..,10}, then verify B—A=BNA'". el FB-A=BAA’
Find the standard deviation “S” of each set of _ 5{ . ST 5 S S
numbers: : )
(1)12,6,7,3,15,10,18,5 WLH20,7,2,10.10.16,5
(11)9,3,8,8,9,8,9,18 (11)9,3,8,8,9,8,9,18
Calculate variance for the data: 10,8,9,7,5,12,8,6,8,2 :;4:()’”..:4/;" o1 L5
10,8,9,7,5,12,8,6,8,2
On a vacation trip a family bought 21.3 liters of &239.90 Js 1213 L bbb LI sl by O 7 s S

petrol at 39.90 rupees per liter, 18.7 liters at 42.90

. . Yo, 40. £ 53,5 sl 31,42 £ H18.7 A
rupees per liter, and 23.5 liters at 40.90 rupees per U&-2,40.90 S 4P 23.5 11/ 32,4290 s 2 A18.7

liter. Find the mean price paid per liter. _“épbf@{f oS Us aia it

Q.No 8: Long Questions

Prove that. Sl Sk
(cot® + cosec)(tan & —sind) = sect — cos 0 (cot @ + cosecB)(tanO® — sin8) = secf — cos b
sin 8+cos 6 cos? 0 sinf+cos@® _ cos?@

FIGVE that, tan2@—1  sin@—cos@ tan2@-1  sinf-cos BJ/ /ML

A 20 feet long ladder is leaning against a wall. The button Kl i 2§ .ﬁ%@; S5 L a8 1 320

of the ladder 1s 5 feet from the base of the “ . . ) o, s R
Wall. Find the acute angle (angle of elevation) the ladder Sledf L L o 5”’2 =3 (9052 K S - 235 Ll

makes with the ground. s
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] =0
Verify the identity: sin© + cos 0 cos’ 0 sin @ +cos 0 cos’ 0 e L
. = e T T h::/: e
tan°0—1  sinO—cosO tan°0—1  sinO—cos®
Verity the identity: 1+.cose M LI 2cosecH 1+.COS 6 s b 2cosecd 12kt e LY
sin O 1+ cos© sin O 1+cos0 "
Verify the identity: 1 - L 2cosec’0 1 + L 2cosec’® 125 A Ll
I—cos® 1+cos6 1—cos® 1+cosO "
Verify the identity: 1+STHG—I_STHG =4tanOsecO 1+s%n9_1—51n8 —4tanOsecO 2L bf =Ll
1-sin® 1+sin6 l1-sin® 1+sin6 "
Verify the identity: sin’ 0 =sin0—sin0cos’0 sin’ @ =sin0—sin Ocos” 0 ”é b ek
Verify e identity: \/1+cos@ _ sin O \/I+COSQ _ sin O : é.::ft' T
l-cos® 1-—cosH l-cos® 1-cos® ~
Verify the identity: \/sec8+1 _secO+1 \/sec@+1 _secO+1 e o L
: = = Sl e
secO—1 tan O secO—1 tan© -

Escribe a circle opposite to vertex A to a triangle ABC «AB LA L1 S 2t 7§ o6 ABC el S L A U

with sides |AB|=6cm | |[BC|=4cm | |[CA|=3cm . B UBEIEURE S 1 4 6 o2 AU CA i BC
Find its radius also. LS

ey

Circumscribe a circle about an equilateral triangle ABC 4 duid Ol 2 &1y #8E ABC &l el fsl-

with each side of length 4cm. ¥

Inscribe a circle in an equilateral triangle ABC with each  (* 3 dd o 2L 2t by € ABC &l loyi sl

side of length 5cm. A ¥

e
¢ .
@%&/J T U IO Y, YR P AT 7 Y

Two equal circles are at 8cm apart. Draw two direct
common tangents of this pair of circles.

A\
Draw two equal circles of each radius 2.4cm. If the Qf:b@ -6 J-ﬂli&,lg»K/l/Lulﬁ-gd_ﬁbd:u»Lbu’w( 2 4
distance between their centres is 6¢cm, then draw thﬁ@ - . i
-;l JWU S L9

transverse tangents. ”‘\Q

Q.No 9: Long Questions

Theorem:
(the student must solve this problem)

(eSS L4 M) 1

[f two chords of a circle are congruent then they

' 1di - = ¢ 2 / U (2 7 /i -
will be equidistant from the centre. Lunddlec L rudund om0 S/ it

Prove that perpendicular from the centre of a
circle on a chord bisects it.

_ca.t’//u—ﬁf;d/d'huf{:})u’(c.}(/'ég/"b,‘/éc-:l:‘
OR |

The measure of a central angle of a minor arc of a Loﬁfu’;w&,u;j,@_,,,jdf/U,,aa_o/gluw}'uﬁgﬂ,df
circle, is double that of the angle subtended by the ) ' J
_ccz.L“}fl}’/ﬁ)c_%:UJr‘;

Prove that any two angles in the same segment of

. Bl Un Cls o B S L 2 s S
a circle are equal. A f.u‘d’w° BG e LS G
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